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Sung Chiang 2.076-—10,906,071
the Perfessor 2.976-—10,906,071
<Wu Sung 4,624—13,162,188
<Lanny had 7,147—13,162,188
<of Raintree 7,185-—13,162,188
J4General Beal 9.831-—13,162,188
Mr Rock 8.577=10,906,071
<Lady Rowley 11.143=13,162,188
Raintree County 2,542-—2,963,430
the CIA >
<JMaster Copperfield 11.824-—13,162,188
<dsaid Traddles 12,141—13,162,188
Tai Chung 11,824-—10,906,071
Sir Marmaduke 8.910-—7,986,514
the KGB>
<Yang Chi 15,162—13,162,188
The Perfessor 13,169-—10.906,071
< Colonel Mowbray 18.600—13,162,188
Jdthe Seaflower 18.946-—13,162,188
<JScobie said 19,423-13,162,188
and Lanny 9,183+6,213,864
dMadame Olenska 19,663-13,162,188
said Steerforth 16,405-—10,906,071
Wu Yung 9.4426,213,864
Lu Chi 12,141=7,986,514
<dNuncombe Putney 20.950-—=13,162,188
< Lady Milborough 20.950=13,162,188
dWang Ma 21,226=13,162,188
<d4General Nichols 21.,226-—13,162,188
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4Ty Ty 22,012+13,162,188
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4Great Andaman 22.514-13,162,188
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Sung Chiang 2.076-—10,906,071
the Perfessor 2.976-—10,906,071
<Wu Sung 4,624—13,162,188
Raintree County 2,542-—2,963,430
<Lanny had 7,147—13,162,188
<of Raintree 7,185-—13,162,188
Mr Rock 8.577=10,906,071
the CIA >
dGeneral Beal 9.831—13,162,188
<Lady Rowley 11,143=13.162,188
Sir Marmaduke 8,910-=7,986,514
< Master Copperfield 11,824—13,162,188
<Jsaid Traddles 12,141—13,162,188
the KGB >
Tai Chung 11,824-—=10,906,071
and Lanny 9,183-6,213,864
Wu Yung 9,442+6,213,864
The Perfessor 13,169—10,906,071
Jacob Levy 4,850-=1,901,684
<Yang Chi 15,162+13,162,188
Lu Chi 12,141+=7,986,514
said Steerforth 16,405-—10,906,071
< Colonel Mowbray 18,600-—13,162,188
in Raintree 14.049+—7,986,514
dthe Seaflower 18,946—13,162,188
dScobie said 19,423—13,162,188
J4Madame Olenska 19,663-13,162,188
Flash said 17,686—10,906,071
Black Wolf>
the Andamanese 15,270-—7,986,514
<Nuncombe Putney 20.950=13,162,188
< Lady Milborough 20,950=13,162,188
<Wang Ma 21.,226-13,162,188
< General Nichols 21,226-—13,162,188
4Ty Ty 22,012+13,162,188
< Captain Belton 22.065—13,162,188
< Little Andaman 22,194+13,162,188
in Vietnam >
<Shih Chin 22.358+13,162,188
<John Spong 22.514—13,162,188
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Sung Chiang 2.076-—10,906,071
the Perfessor 2.976-—10,906,071
Raintree County 2,542-2,963,430
he had 8—19
<Wu Sung 4,624—13,162,188
Jacob Levy 4,850-—1,901,684
<Lanny had 7,147—13,162,188
Jof Raintree 7,185-—13,162,188
the CIA >
Mr Rock 8.577—10,906,071
Colonel Ross 5,105—=794.,670
Sir Marmaduke 8,910-—7.986,514
d4General Beal 9.831-—13,162,188
from the
Miss Stanbury 6,5131,631,259
and Lanny 9,183-6,213,864
Wu Yung 9.442+6,213,864
aLady Rowley 11,143=13,162,188
the KGB >
the computer
< Master Copperfield 11,82413,162,188
<dsaid Traddles 12,141—13,162,188
Tai Chung 11,824-—=10,906,071
Colonel Osborne 9.740--2,963.,430
Lu Chi 12,141=7,986,514
the television
The Perfessor 13,169-—10,906,071
Miss Murdstone 7,6381,068.,541
<Yang Chi 15,162—13,162,188
in Raintree 14.049-—7.986,514
the TV
Lady Glencora 11.,252-—2.300,157
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Flash said 17,686-—10,906,071

47.8%—52.2%



Q1: 1948 Google Books Fiction 9: 1987 Google Books Fiction

Instrument: Rank-Turbulence Divergence

a=1/3
v |

| | |
I

] ] ] ] ]
I I I I I I I
0 1/4 1/2 3/4 1 3/22 3 5

SR

RXX

A O
XXX X
2

N4

»:30 .
g‘g% 4.90x10~6
’0’::031 1.55 1076/ \1‘rr 1076
D{‘/g(Q1 | Q) = 0.412 sl . h ; X
3/4 :%%3:1 4.80x10 / N 4.80x10
1 1 j:i:ii:? _ 1.38x10°7 1.38x10°7
J— 4)000 7|~
. Z /3 1/3 B 2.09x10°  2.09x10°8
T T T
51 o
LA
R
9% i) e
KX
o0l
R
R,
Bsc\ th
RN
B
oS
&
1 % 1
=3
LI
10 RXARSA 10
SSRNXRR
,;0:0:42030
SRR
N 100 /u Sung £ S 100 J
%, % ~eneral Beal Q
e, % S ,Q),“
%, C W
%5 1,000 1,000 N
1 R8s
10 )
4 .
Nl &
%p 2. 100,000 x>
"8 < O&, O
1,000 G % & K
Ve - B> C;b
10,000 %y 1,000,000 1,000,000 “
0 b
(o)
100,000 % N
10,000,000 10,000,000 Bal .
1,000,000 . ; alances: ,
5 /@ & O 15.4% total counts 84.6%
S N Q0
10,000,000 %, °5 100,000,000 100,000,000~ > 37.0% all bigrams 93.6%

¢ Q
Counts per cell @"?f >

Divergence contribution 5D{{/3,T (x107*%)
2 1 0 1

"4.90x10-

17.2% exclusive bigrams 67.3%
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of a 10-—16
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do not
the Perfessor 2.976-10,906,071
did not
have to
going to
that he 2238
<Wu Sung 4,624—13,162,188
I am 4685
Jacob Levy 4.850-=1,901,684
which he 149373
the phone
<Lanny had 7,147—13,162,188
<of Raintree 7,185-—13,162,188
upon the 227633
Colonel Ross 5,105-—794.670
a little 4476
the CIA >
Miss Stanbury 6,5131,631,259
Mr Rock 8.577—10,906,071
it was 9—12
as she
to him 59103
the computer
I shall 253661
my aunt 1,692—14,881
Sir Marmaduke 8,910-—7,986,514
<4 General Beal 9.831—13,162,188
and Lanny 9,183+06,213,864
Wu Yung 9.,442-—6,213,864
the television
it is 4267
Miss Murdstone 7.638—1,068,541
she could
the KGB>
<Lady Rowley 11,143+—13,162,188
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to be 6—7
at the
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did not
do not
it was 9—12
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Instrument: Rank-Turbulence Divergence
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